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Part I 

 Answer all questions.  
 

1) Draw all the axis of symmetry in the given figure.  
 

 

 
 

 

2) A= {Prime numbers between 15 and 40}  

Represent the set A by writing all the elements of the set within curly brackets.  

 

 

3) Find the highest common factor of 30, 45, 60 

 

 

4) Simplify 5 + 7 (5 − 2)  ÷ 3 − 4 

 

 

 

5) A person who borrowed a bank loan has to pay equal installments every month for 15 years. If he 

paid the first installment on 2019/01/25, when will he pay the last installment?  

 
 

 
 
 
 

6) Write 2 × 3 × 𝑃 × 3 × 𝑞 × 𝑝 × 2 × 3 in index notation. 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

7) In the given figure, name  

(i) a pair of parallel lines '''''''''''''''''''''''''''''''''''''''' 

(ii) a reflex angle ''''''''''''''''''''''''''''''''''''' 

 
 

8) Fill in the blanks.  
 

 +8 +   −3 +   =  (+7) 
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9) Solve8𝑥 + 5 = 77    

 

 
 

 

10) Find the area of the given figure.  

 
 
 

 

 
 

11) Simplify  
1

3
+

2

5
 

 
 
 
 
 

 

12) Express the ratio  54 : 63 : 108  in its simplest form.  

 
 

 
 

13) If the x and y coordinates indicated by the 

point A on this  coordinate plane are 

changed and the resulting point is named as 

B, write what are the x and y coordinates of 

B.  
 
 

 
 
 

 

    

14) Write the mixed number 2
3

20
as a percentage.  

 

 
 

 

15) If a certain solid with 5 faces and 6 vertices obeys Euler's relationship, find the number of edges.  
 

 

 

 

 

 

16) Consider this tessellation.  

(i) Which type of tessellation is this? ''''''''''''''''''''''''''''''''''''''''''''''' 

(ii) What is the sum of the angles around the point P '''''''''''''''''''''''''''''''''''''''''' 
 

 
 
 

17) The faces of a regular tetrahedron are numbered 1, 2, 3 and 4. The tetrahedron is rolled once and 

the number on the face that turns downward is observed. According to the possible outcomes, 

mention the type of following events.  
 

(i) Getting number 3  '''''''''''''''''''''''''''''''''''''''' 

(ii)  Getting a number less than 5  '''''''''''''''''''''''''''''''''''''''' 
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18) In a scale drawing of a rectangular land which is drawn to the scale 1:300, the length is 5cm. Find 

the actual length of the land.  

 
 

 

 

 

19) Simplify1.5𝑔 +  1.557𝑔  

 

 
 

20) The centre of the given circle is O  

(i)  Find the length of OC ''''''''''''''''''''''''''''''''''''''' 

 (ii)  Write which type of a triangle is OBC. ''''''''''''''''''''''''''''''''''''''' 

 

 

 

 

 

 

 

 

 

 
 

Part II  

 Answer only 6 questions.  
 

 

 

(1) (i)   Draw a Cartesian plane from 0 to 6 along the  𝑥axis and y axis.   (2 marks) 

(ii)  Plot the points given below on the above Cartesian plane.    (4 marks) 

 A (1, 1) ,  B(5, 1) ,  C (5, 5) , D (1 , 5) 

(iii)  Join the points with straight line segments in the order of the letters and return to the  

starting point and obtain a closed plane figure.      (1 mark) 

(iv)  Write the name of that plane figure.      (1 mark) 

(v)  Draw an axis of symmetry on the above plane figure.     (1 mark) 

(vi)  Write the coordinates of a point located on that axis of symmetry.  (1 mark) 
 

 

(2) ^a&(i)  Surangi who save same amount of money per day, bought a necklace for Rs. 450/= by 

adding another Rs. 66/= to the money she saved within 8 days. Build up a simple 

equation by taking the money she saved per day as Rs. x.    (2 marks) 
 

(ii) Find the amount of money she saved per day by solving the equation. (2 marks) 

 

(iii) If the perimeter of the given pentagon is P,  

construct a formula among P, x and y.    

      

(1 mark) 

^b&A seller had 250 amount of Rambutan and he sold 150 from it. 

(i)   Write down as a fraction , the sold amount of Rambutan from the whole amount and  

write it in simplest form.        (1 mark) 

(ii)  Write the above fraction as a percentage.      (2 marks) 

(iii)  Write down as a fraction, the remaining amount of Rambutanfrom the whole amount  

and write it as a decimal.        (2 marks) 
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(3) A table with information on the number of toy cars that were produced from a factory during 

five weekdays is given below.  

Day Number of toy cars 

Monday 250 

Tuesday 375 

Wednesday 300 

Thursday 565 

Friday  480 

(i) Represent this information by a column graph.    (8 marks) 

(ii) Find the difference between the highest number of toy cars and the lowest number of 

toy cars.          (2 marks) 

(4) ^a&fuu fldgq c,fha l=vd fldgqjl j¾.M,h 1cm
3kï" 

 

 

 

 

 

 

 

 

(i) Write down the name of the solid that can be made by using the above net. (1 mark) 

(ii) Name the shapes of the faces of the given net.     (2 marks) 

(iii) Write the number of faces, vertices and edges of the above solid.  (3 marks) 

(iv) Show that the above solid satisfy the Euler's Relation.   (3 marks) 

(v) Find the number of faces of the solid that has been constructed by coinciding and 

pasting the square faces of two identical solids mentioned in the above figure.  

          (1 mark) 
 

(5) (a) The distance from the houses of Suneth and Binuka to the city are 750m and  2.25km 

respectively.  

(i) Show the ratio between the two distances in the simplest form.  (2 marks) 

(ii) Write down an equivalent ratio for the ratio 2:5:7    (1 mark) 
 

(b)    (i)    The ratio between the length and the breadth of a rectangle is 3:2. If its perimeter is 

   80 cm then find the length and the breadth separately.     (3 marks) 

(ii)    A certain amount of money was distributed among Kalum ,Wasana and Tharaka in 

the ratio 2:3:5. The amount of money Tharaka obtained was Rs. 500 more than the 

amount obtained by Wasana. What is the total amount of money they distributed? 

          (2 marks) 

(c)   A fruit juice bottle at a sale contains 120𝑚𝑙 of fruit juice. How many such bottles can be 

 made by using 1.8𝑙 of fruit juice?       (2 marks) 
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(6) A scale diagram of a rectangular play ground drawn to the scale1:1000is shown below. A  

swimming pool is denoted by A while a gym is denoted by B.  

 

 

 

 

 

 

(i) Find the actual length represented by 1cm in the above scale in metres.  (2 marks) 

(ii) Find the actual length and the actual width of the swimming pool.   (2 marks) 

(iii) Find the actual area of the swimming pool.     (2 marks) 

(iv) Find the actual length of the gym.      (1 mark) 

(v) Find the minimum length of two strands of wire needed to build a fence around the 

playground.          (3 marks) 
 

 

(7)   ^i& Construct the straight line segment OA of length 4cm.    (1 mark) 

(ii) Construct the circle of radius 4cm and centre O.     (1 mark) 

(iii) Mark points B, C, D, E, F respectively on the circle so that they are equidistant  

from A.         (2 marks) 

(iv) Join the points using straight line segments and complete the figure ABCDEF. 

           (1 mark) 

(v) What is the name of the figure obtained?      (1 mark) 

(vi) Find the perimeter of it.       (2 marks) 

(vii) Construct the equilateral triangle BCX, considering the line segment BC as   

a side of the triangle.         (2 marks) 
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